
УРОК АНГЛИЙСКОГО 
ЯЗЫКА



JANE IS WEARING A RED 
DRESS. SHE HAS A DOLL. 

TOM  IS WEARING A WHITE 
SHIRT AND GREY 

TROUSERS. HE HAS A TIE. 
KATE IS WEARING A PINK 

BLOUSE AND A BLUE SKIRT. 
NICK IS WEARING A 

YELLOW T-SHIRT AND  
PURPLE SHORTS. HE HAS A 

BALL.                        
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Dress T-shirt Blouse Skirt Shoes Shorts Trousers 
Shirt –это на звездочки             



DRES
S















MEET OUR FAMILY

▣ I wear my new (skirt) and my (blouse) when I 
am going out. When I am at home I like 
wearing(jeans) and (T-shirt).       Blouse shorts 
sandals pyjamas sweater boots jeans jacket skirt 
dress shoes .Girls Boys Both skirt dress blouse 
trousers shirt necktie scarf T-shirt sweater                                      





























      Three 
most-spoken 
languages in the 
world 
??????????????????                   















DICTOGLOSS

▣          WORLD                   
LANGUAGES





▣  In China many people speak Mandarin  
Chinese. Chinese is the first language for  937  
million people in the world. It is a difficult  
language for European people. 

▣  About 332 million people speak Spanish  in 
Spain. It is not the first language  for  
Brazilians. Their language is Portuguese. 

▣  People speak  English in Britain, Ireland, the 
USA, Canada , Australia and New Zealand. 
English is the first language for 322 million 
people. It is a second language  for 600  
million people. English is an international 
language!!!!!






